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yntoL: l clata- kype annay namﬁ[&fiej

Whene. Dala-type —rspecifies type of elements that Con be Skoned mode the Qan
Such 65 Tat, fisat o7 chan -

anagy_nGme —> 5 a valid idenbﬂf?ﬂ
5ize —» Gize Indicates the moomum num
stoned inside -the’ Ganay -

ben of elements that con b€

-5
Example: JF we wonk to '169"653" a et of & integen numb&s by Gn Grn0Y

vamub)g_ o', Hen We con declane e amnay 05 followS:

- bt alp])
Now:the compulen nesenves fve 6

tonoge loca‘l:{onf_s 05 Shown beloto: |

S ¢ (2
IS ¢}
af2)

~———~_ af3]

o

-JJ“
. i:
4




_ ‘_;—'V e vadles v me gnnay elemenlts Con be assigned Qs follouss @

| afo] z10
a(1J -20
af2] =30
Qfal -yo

: aful =50 » ‘
>The elements aue stoaed  Conkinuous memexny locations .

alol af] a[2] af3] afy
[to]20[30 [wo [50 ]
1000 1002 100Lk 1006 1003

SThe size of the Gnnay Should be unfigned fnlegen Constant on O Symbodic constank -

Ex Snl numben [io]:
Flook height[5];
Chon name(1o];
NOIE! Size Should not be emply, & Should not be regative value
wvlue -
= When we declaxe on Qnaay, the Compilex alscates memony Space based o

and fAooking-point

i e of ay-
the gize and Eype of the axxnay byhes
Total memeony Space allocated to Gn Ganty = numbex of datalypes occupied by
the dalctype 3 Size of the annay.
Ex: nt O[!O]/'
> Tokol memony Space qliocated = 2x!C =lobytes -
1
o S-’z‘éar.L? no-of elements
EX chan namefio]: ik
- . Ixio

- Totak memony space allocated is:wed =10 byles
EX Ploal height(50];

—Tokal memony Space allocaled = 4 x50 = 200 bytes -
TNITIALIZATION OF ONE-DIMENSIONAL ARRAYS:- |
>Aflen an Gwiay %5 declased, 15 elgments must be itialized-
= Assigning volues ko the annay elements 5 known’ G5 intkiali zakion OF Qangys -
> An Gmngy Can be inikalized Gt eithen of he following Stoges:
1- At Compile Bme

- B+ At Jun bime

=F




1- Compile Him! kme tmbakizakiont-

~VY v S

) x\’hnC\h'ﬁe aanay elemen:J ot the plD.Ce of tein decmmahon l\cﬁel{:

= ke G
: o
Syoton: l] Datatype arnny-nome{size] = {lﬁ& of values sepesated by Commasy ! Y

e

examples np (67 = {1,219 1, 3,8];
chon namel51=[ ', 19\ 2, *a,‘bﬁ/ -
. /m 0270y W,
The md;v;duﬂl elements of an 05
SubsCatpl n pnockets aften the G103 nome-

aanay Cop be accessed by wmbing  tndex on

Ex fob oc[e] =f 10,100, 20, 2005 50}

The subscaipk os index 10ngES from 0 o 8ize-1-

ce- Xxfo] clo
x{1] zi00
x[2) =20
x[3]) =30
xfgl =ho
{5750

. Laam AES: Tk numbenf_ﬁ L0373, k4, 5}
chan <012 (.5, 0);
flook h&'ght (3] - %5.3’ L g, 6'3_1]/'

= Buppese e lisk of elements specified ane Aess than the S'2E of the canoy, then
that  many elements: a@ &5,5,;3 enbialized - Remaining plements ane 055-’9ned ‘

e b oes1={v2, 3y
2 . - |
Pfol=t, PO)z2, P(2]23, QBJ‘M, P1i] - qamlbage vt

D‘”‘"‘ﬁ compile kime initiali zation, e donk 5p8C1Fg e size of e Ganay, th
the Compilen fxes the size of the Qngy based on numben of elemenks fvi the

Exi Sk [ ]z [y5, ?,"ﬂ;/‘
Since the @y X has A values o the Mist, the-size of Qanay 5;5

2, .

=D Any JLCP,L55 to the annay elements putside o boundanies(ie- cutside is Aimils
Wowld nob ©££285 Cause Gay eanpst- Jt nesulls in unpredictable 7ESULLS - ,

Ex Pk x[5] = [0, 20, 30, HD,503
5upoo5€ if He by {o GCCESS tt[é;l element, Tt wil not ghot Cmy BJ'IJ’IOJ’
Ls tene le.ane 0OLcessmg. beyond ‘he Aimit

: .ﬁ C peﬂbnm.S no. bounds Checkm
- q 5
‘_F Qﬂe wlf*'lln H‘Le dErmned hml’:5 0 90(1 SElouid 81'15!,11'18 th}: me GJ']ILQ_‘j» lnd’l




. 't‘--, v v Iva‘YY\:\:\, - _@‘2/
=>An anmay can be nibialized ab aun Kime - Thig appnoach

loage annays - o used fon Tntlializing

=> We can use Sconf) funckon o inibialize Ga annay ab nuokime
EX fnb ocf3]:
- G 1} .. ]
> SLOnf(" 44 40 49", Bxi0], €013, &x23);
(oR)
fon (=05 1¢3; Zry)

{
scanf (" 1.4} & x(5):

J

$ ‘D e o iy
Reading: fon(F-0;icsize; fx3) | Displaying: Bn(‘-’w'?(s'ze*ﬂ)
-, 5 o L4

scanf(" 7.4, &ati1):
] )
Pnel eagerd-

= Waite 0 paognam to nead ond disploy annay of 5 integens. Read Gnnoy elements
at Compile Eme-

#Emclude<stdio-hy
vord main()

primtA(" 74" aliz);

int af5]={10,20,30, 40, 501: /% Reading %/
Clasen(: '
pinf (" #d 74 #d 4d 7d] afo], a0 062, als, o[»J) /% Digphaging %/
: getch(), A
J
e pugon@
DuWnte a program ko neod and display omay oF 5 neal numbens {i-e- foaking poink valug):
Read - anno_l, elements Gt sunbime - :
#include<stdio - h>
void ina?nt)' '
¢ Floal 0(5]; ok i
_pif(" Enten 5 geal nombexs:'):
fon(f=0; 7¢5; F++)
£ canfCr2p, 2007

._F})mn}H, n Annay elemesls ane: L)
fon(i= =05 7¢55 Evt)

- _} pmntﬂ“\k /& Y, Obﬁ

L)




E:xf_lmplf pmg)}(} 11} \')

(B ava s

Laste o proguam b0 display @inay elements in nevense ondew -

£ nclude<stdiorh>

# nclude <conioshy O_“_}E‘ji :

void main() ) i prien the onnaY elemEnB

£ o 20 30 ko 50

. Mt Q[SJ) \J ‘ Annay elements nevengé onde
pn?nh‘(“ Enten the onndy ejgmen]»g,-_")/. ko o 30 20 10
for(fz0; 1<5; fx+)
r

2 4 o
seanf(* Ad) &0 0I)

‘ pnin'rﬂ“ Annay elpments fn nevense onden’):

fon =y Tyz0s§-2) JpOopiay elemento fnom Site-1t0 0
(5-1)

e fnom h O 1)

onmbf ("t 10, A0T)

3 3 H < Y 2
F0m 0 rﬂPlcmE’n, a C.r;eznd-.’menaonal Qnnay and printd ko index and

g anpapen g

: 'atue .

" includecoldioth> Tnput: Enten 012 elemento:13 12 25 170
! »"D;d mant? O&\& jrzdex volué

Tk otsh L | ’ >

printFl ngnten Onn0Y elements:’) _ Y

fon(f=0.1K5; tr1) 3 11

{ L
"scanF("'l-d'i&O[!D; W9

.} LLEWN
- paintfC " Tadex Vb VOLLE )

FDJ’!L) D; 145, H-l')

;[' )

- oman“\n 0\t ld/ OQLJL) afi1 3o wlué .

J 5§ {5 index o ‘
- gekchty |




- ®

hnite o prognam to calculate sum of Crmay elemenls -

##include ¢stdios hy
Void mpine) . :»gg Enlen annay glements:
12 3 4 5

{
b ars] | §, Sum o, . outpub:

print{" Enlen Gnnoy e}gmen}5:”)/. Sum of Gnnay elements 515

fan(_z’:o;;'<5) Fe+)
scanf(" #d' hafi7); |
Fon(,:':o; ;‘(5/vf++) :

{
}

Pnintf{ " 5um of annay elemenks fs ;4 g" sum):

&um = sum-+ a(ry:

U
Fmple 6

Lsste G pregram to calCulate avemge manks Obtgined by 5p students

—— s

includecetdiorh> e
1% -
ﬂdmte o pregram to calculste e eidl

Void wmaint)
{ ' prices of 25 itemdS cohich Gag sknsd N
it manks{s0], lisum =0, PrCeS Gnacy-
Flool avenage Ktnclugde csidiohy
prinif("Enlen 50 students manksL .
Voird meun()
fon(i=o; 1(5OJL++)- : N
5COI1H"/-dl/’ &manks[fj)/. Q{C(ﬂ pniCES[QS],‘co‘ﬂlZO'C/',
} .ok
fon(izo; 1es0sfav) | . Clnscat),
; ' pmnH{ ‘Enten meBS of 25 itemsSs )
Sum:5um+mqﬂ1‘¢5["]/' fontf=0,1¢25; f-ﬁ)
avenage - Sumfs0: , -seanf( " 1F", & pricelizy
= ped R
pamtf(" Avenoge mank5 i5: 74" avenage); J : _
S : ‘ . fon(r=0;1¢25. Br)
J . ‘ . o
| o o total = totol+ me(:‘SDj/‘
f Jo
1 prinf " totat price T8 4F total);
Getchty




e | A,
ke s picgnam bp ‘Find Smaliest and Langest numben in G List of intege:
#include<stdioh> 'rnpuP
A mclude £ Conio-h> * on Ganay exzmenb. e 05 0%
vord moint) 9&?}‘? .
oo a[5], 5, loage, smolL; ) Sopliesk elpment tn e QoY %:5
cAnsealy; | La,,ggf,} elgment in the anany '1’5'._104—

intf(verten Gy Eements P

fon(3-021¢5;0++)
: scanf( ") &a0T)

gmall <ol
lange =001
fon(f=11¢5f+t)

{

o (a(il>A0nge)
longe :OUJ/'
°r(agizcsmall)
i Smal,{:Cl["]/'
| -
“ - ¢h the Gnnoy 5 '/dl’ 5"1011)’

ot SmaMesk element §
(" Loagest element in the Ga7ad f5:1d" \onage)

fDﬂxff

o Geithty

lﬁ et M@%’ :
- ;nu }p paocHCce the fouowmg pnogmmf;

@) ke G plogram lo calculate e sum of Flooking point numbenﬁ.

1@ lle o program bo digploy only -ve elements of on qunay .
sqm o disploy Oniy pven numbers n an Qanay

3 Lnke G prog
ulake sum OF positive numbene and Sum of M

Q Linile o prognam o calc
' n an Cﬂlﬂﬁ\lj

i

@ Lanite G- Pnog7G
@ Wasle prognam

m o 0dd two ‘ntegen 03705
to neod ond” dmplag G chanacken Onnoy




. t:.>Ldn?Ee G pnognam to Soat the anacy elements in

#include< stdiorh>
Void main()

{

mk afi01,n, { temp, §+

Chnscaly, '

Pnintf (" Enten numben of annay E?iemenlvsz")/s
scanf("2d" &n):

Pt "in Entex annoy elemen¥5:")/»

fon(7=0; fen: f4a)

{ scanf ("#Ad’ &nLiT);
J

fon (f=0. T<n i+4)
fon(§= 012 jon; o)

f(alil>a(ji)

Fermpza(il:
afil - a(iy;
G{3] -temp’

I b
‘B o 1y
pnintf("n Annay elements ' QScending ondeniln )
fon(i=o0;i<n: f++)
paitfF(" W ~d) 00I)
¥y '
gekcho;
3

Tnpub: Enlen the numbe» of aanay elements 5
Enten QnnGy elementS: 44 V' 6 5 3

OSCQnd?nQ ongdesr -

O‘“—é_&h; Annayj elementS in ascending ondenil .3 I 5 ¢4 -

@ 1



“Sale a4 pacisen o soat the G0y elements o descending Onden-

Logic: fon(¥=0:T¢n; )

{

fon(J :fﬂJJUL‘j’H)
Flalil<atis)

temp-a(i]:
a[laj z OD‘J/'
ati] :Efimp/'
]
3

iiile o progsam fo find Kh smollest elgmest in G Qnay

Logic: + Recd Gnnay elements
¢ the G0y clements fn qscending onden-

ted annQy-

2 Annang
3 Pynt wth element of 57




:,’>Qne—d:men5?onal Onnays Can Stome list of volues - '

= Thene One situations, whene -we wont ke stone @ 4able of values * Two-dimensiornods
Omnoys ane used to sepresent on Stone table OF volues-

Two- 3 - ),
Ao- dimencional Qraoy:

An Qmny which Con}d'ms kwo subscipts 5 known G5 hoo- dimensional QncY -

Eample: malni
Ly Malwix Contains two dimensions ie- Rows & Columns -
Coéwnn C&lumn -
o o s
A-
w1 | 3 b

In maknix, o panticulGn €lement is nepnesented by two SubsCripks- Fay e xarmple
Aji nefens o the value o the h gy and jh column tn maknic 4
Aop 21, Ao =2, A1p=3, Ayl
>InC language maksix can be niepnesented by two- dimensional SLELULE
DECLARATION OF Tuo- DIMENSIONAL ARRAYS:-
TV AL A NV AN YAV AV

>Two-dimensional Ganays Gre dechaned 05 follows:-

@Hn_tmt:l dak&tﬂpe Gmnay-Name [Rowsize] [Cokmnsize] J

Ex Snt a[3]{3); —» Contains 3 nows and 3 Column5

it b(33(2]; — Contoins 3 rmows ond 2 Columnd
. lumnS-
chan C[5]['—l]/'——>(:0n[—a‘n5 5 NOW5S agd L Co

. o -
DTolal numben of elements n a two-dimensional Gnnoy t5 = RowSi .
. ot Les occupied by the

ze % ColumnSEE

datalype ¥ total numben

Exomple: St G{53{4]; A

total numben of emmenkf,:th:?O

Space = 2 k20 =ho bytes-
= Each dimension OF the ‘annay % frdeed fom o ko fts metimum-gize ~1-
31_,18 F;nf)k ;rkb)(' Selécl‘5 ﬂ']e- now Ord SeCOQd :ﬂde_l SBLBCB COLumn w\H'qu H’l&):

- . 0o

Spoce 'oécuP?ed'»bﬂif-*hé two-Jimensional Ganay = numben OF by , of elements.



ITNITIALT ZATION:-
/WWV\/VVV\/\/

1- Compike Bime initiolizakion:-
A YV

NSV

s> Toakioi g two-dimengionol anmays ok e kme OF declanokion Ttoelf -

EX % obie(23(3)= {0,0,0, 141} ko 1 - The ik
The Qbove Siplemest irikialiZes fgy now. t0 O Gnd Gecond o £ J - e A

e 6 dOne A0 by now- e X o © 0}
‘ LI | 1

‘:bL-lP can also smbiclize two-dimensional Gnnay n the form OF malnit 05 Show? bel

B b abie(2303]c [{o,o,o} £1,1,2

. arz1(23 = { sy, [uty, gg,q3},. o
§:> When the Ganay §5  Comphelely initialized oot i volue, then 10 need Yo epecily
| gize of He finst dimension-

v b at3031 =4 (w56l Lot 11

CATE the values Gne mMisSting 0 Smbiakizakbion, they Q€ outomatically et to O-

EL tb af23(3) = [ (w2 Dadle
Glol{g) =1 atdf{od =y

L ©oarod( 2 aLIfd s o
5 alo1(23z0  G(I(22=0

IP €255ing two-dimenSional Gnnays: -
: NN A P NV TV NN

1:»_!. gividual elemeats of two- dimensional AYS can be qccessed bg using
l -JD Cmon&onﬁ

e arizfi] nepnesenb clements in $Hh som and it column -
AN
 Ganoy € Vo . | . e b
’E”Wré Row  Column . - of 1o 20
. 00 ot 10 n’ 30 l«()J
Ex Sob a(23(2]) ={ {1020y, (30,40}
N ce- ofolfol -
afol{1] 20
afnlfolc30 -
bl 0l -2hLo

Umangerent oF koo dimensone ey clomets fn meney-

?Cquen St |5 G two- dmenoonal Onnag on One dimensional 0313105; Ou e -
aanay eLemen‘cs Gne Stored in "Cenbinupus . memony Locahonﬁ

ED Sak a[2[20 = {{*olzrﬂ« {30, #03;}

- alo]fsr amarl _GOifel QL30T SRR
- ol 20 | 30 L ho l o e ‘-

PP S R S recir. . ST T - T




1

TNANEEIIRL ML CURIUN T
’\/v—w\/-\/\a

. NAAN VY . - i - @ lb
&Two—d?men_gxorﬁl Qnays con be tmitialized Qb nun Bme using scanf fnciion -
®adings fon(§z0; i< nowsize2 ) Displaying; -
{ . Fon(,ko,‘kmé&f@h%»)
fon (=0 jccolumnsize; frs ) { :
[ ' A fon( j=0; j<columnsize S5
scanf (MAd) &oLi3ffy) " ,
y L) i prinif("#3d, ali1(11);
J prinkf (M) -

Example pregnam.-
<> Unite @ prognam bo xead and display  3x3 moknin:

#include <sidiosh>
# include¢conip:hy Inpuk-
Void moing) Enten Q _3x3 maknixt: 11 ;1 fz;
r 0 2 3
ot a[31(31, f, > Qubpuk:
Clasent); The entened malnix <5 -
(d } ] Yoo
pnin i[ Enten G 3x3 mataix;'), by g
fon (7205 1¢3; f4s) ) T 89
{ ’ 0 2 3

fon(=05jc3;544) ;,

{
scanf(" 1d' €Al 7). |

3 T

5 |
pinif* The epkenedA mq{#;x IOSZ\n")/'
fon(f=0; i¢3:844) | N
r:,' ,O“' ‘\ ‘.l-:"
fon(J=0; 3433 J* ) . N disiieg

{ onintf(* 33", a0I1)

‘x
3 ‘ J
printF("n);
J
getchoy:




= Exompie pAegram:-

o site ¢ prognam ko penfonm Gdditon of two raoknices -
7t include< Stdhoh>

Veid moin()

{

e\ afol(i0l, blol0od, ¢ Lo3(iol, 71,#2,€1,6% 0,32

CingCnty “
onintfL" Enten numbes of nows & Columnd n mota 03 )

scanf("+d Ad”, &M, &Lc1),
pmotf(" In Enten mokmit 62");
fon(¥=0; fem1 5 T4 y)

fon(j=0zd<c1 )

sconf(*1d” &ot0iI)
Y

EninH(“in Enten numbes of nows and Columnd . Mkt b');
scanf(* +d 4", &n2, Lc2);

antle . By
Pl (" n Enten mabnit by

fonl 8205 1¢n23 8ey)
fon (-0 jeC22 549

{ scanf (" 44", &bli] (337
J L

S(ny1z-m2 && C1zzC2)

1

- .o - erse
 pintH( " maknix. addikion ¥ possible’); 1y _ :
o o, a0 - pnind( " matniv addition 15 nol
fﬂn (izosTemtay) ocsible "; ,
fon(j=0; J<C1; ' 3
{ : j&) B ' getchiy
CBILIT zalill+blillil, = 3’
3. .

gninh‘("\n Addibion of ko nuobﬁcgs;\n‘)/-
U on( o e ta) ~
a Fo’!(j:o;jéél,".j»ﬂj?' o
I3 ’ S éﬁ& dfg-‘“)-z z{’,-tiij»[_h)j _

A Dot ')




e e U -

#include <stdip:hs : ' - 4
Vord mazn () . ’ 1

{

pnln}*FL“\n Resultgnt mabmi 955 \n”)

ft GloIfi0], bl o], cOoCio] § IJ y fon($-0: ¢ RE B ARy

nk x7, 52, €1, C2; {
iy | fon(J=0; j¢c1 B )
Print(™Enlen no-of nocas & columnns $n a:")

Scanf("4d g’ &m, bcr). 2o paH(AdY, crfggyy,

P’bnl'f( } Rl J
n Enlen n'nl‘-’l 1Q: ) pn;nH(,“h’l")/i

fon(5=p: 1en); Bey) ol

J

fon(j-0;j<c1:
scanfl" 4" LB, L
J 1 + PrintE(" makniy. s
PJ | Y
i Pinf{*in Enten no-of nows & columng on b): Getch o
scanf("+d 1" &2, &C2) _} §

| Primtf (", Enten matni b ") " B

plicakion @ nok pecsble,

PDJ)(,I =0 (N2 ?+T) :_~  . \L,»‘ s ; .
{ 4 i 2 . ;ﬁ .
(4 -3 . o . i N N - - A
Fon(J:0jJ<Cz)‘j++) R e PR
1 \' N ~§ LY *'v‘{.
{ N s - . . . N - o - ‘_ "A .
Scanf(" 74", &bL1113); ‘ S woen T ety
3 - . ~ T 5
3 - < ; JUSEEE T %
o, . - N M 2 :
L R
P b bt iy < A"
o o & - - f A e
ﬁDJl(,I”O |<311 L-H—) | - },83 < ﬁ\,_ . \‘g..%‘ y
° . Sk " \‘_, L .__’ - “ =
FDJI (J_:O)J(C2J'j-}.}) . \\\:\ L - . O
{ : o o
° °. . /‘?‘ 2:‘ w v
C[lJL,J :O/I ) . s W ) ¢ v ° - s
forntk-piecrey - O | R
Il.,‘f-—(?/ ,(<C_l) k.*“,) . '), . .
o, - - ) . -\.or . .
o, HIEenwr ating xboaryy, S
\’9.‘ - ~ -~ P LF 7
. o s

3 LIRS “ N\ - )
’ . . - - €y } 0N = . = ‘<o =
. - ) >s \:‘il’\‘ ) o < ¥ R

~ I s - T ~ >
- ‘e R I B
N - 4 o~ - N
Pt ™ R 5 .
: (A ¥ N :
N ( ~ ~ IR Y Y .
_ _ N < _,.-;/’\y - T
&t R S Nt P e .
S — ) TS T



=B lite G pacgnam o genenate EAONGPEE of a matsix-

#include<Stdiosh>

Void maint)
fit a(31(31, b{20[31, 1 Jnput:
Clascacy Eenter @ mabsine: 3 23
paintf(“Enten Q ﬂﬂ\:nix:")/. 5 b
Fon(i-02i¢344) ’ 8 q

H
3

Ou\'giﬂ’
Fon(3 -0’ 1¢<3"
S;QE{J@’J?H) “fnanspose OF 9
n ll‘/ U} . e ,
3 ! &afiliD: | -
2 5 38

fon(i=0:1¢32133)
> 619

sven mobiLis:

-fOnL]:O)j(S)jﬂ)

b3 taI AL
! ]

37 o
‘Dn:nH;[‘ ’[nonspofye of g"\\fen mQ\’ﬂi'L 15:\77))/'

fon( iz (<3 x4
S

| ontfzosi

| ConlJ=02043 f+4)

>

p)’hﬂ\’)t(_ }‘d b(_lj LJ])
) pmnFH.“m) -
J
getchtd}

H'mt NbR\x
U Linite @ pregRom o
x(b pwte G pncgnam Yo
@ Pate @ pncgn()m to

penfonm‘ bk noction of bkwo Fraknices -
colcuipte sum of au elements ¢n o matnix -
dioplay d.‘agnol elements ond E5 Sum 2q a mabnix .

Ly $FCE=2) apItd
L
ouialfL 03 QG °§§3§3

& inile @ pnega0 ™ te Hnd cohe*hEn Foe Qlven mobsit Y 53fnmel:m’c om nok

Az H > 63mm€lm¢




MUL11-DIMENSIONAL mae;wb, S & g

R

D An aan0y hich contains mone than twc Subscaipts 75 known as mulki-dimension
Onnay

> Mulki-dimensional an0ys ane used to nepnesent sunvey data -
Declnna}ibn:—

VYNV

Muiti- dimensional Qunoys ane declangd 05 foilows :

Splrc datakype ann0y-name (533(521(93] - -----[5m]",
>whene 5 5 the size of Sth dimension -

EXOmPIES: Sl Guavey(33(5I02]:

Foak toble [53(61(3306];

Hexe Susvey 6 0 3-dimensional Gnnoy, which Conloins 180 integen elemeniS ord
table 75 o 4-dimensional Qnaqy -

Exam - . o Ly C_
To nepnesent a suwey data OF mainfall duning the lost 3 years in 5 cikies fom

b sunvey(31053102)
VRN

yean City month

month 1 2 3 ____ g month t 2 3.___ 1) Thmonth i 2 14
ean) . eaa2 o iy 2 -
Y City Ve oy - Ve City
’ ‘x ]
2 2 2
3
- 3
. 'y .

Fon exomple, the element sunvey (21[3100] nepnesents the noinfall in ._gha.

| month of octoben duning the second Yean tn iy 3-
Example @)~ |
A a2

To nepnesent gold nates duning the Lost 2 yeans fn fwom Januany bo decemben

;| eveny day, the aszay con be declaned G5, Fnuows

ok gold-okef 27 (127 [31;
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INITTALTZATION -

NNV A

- Compile Hme W}/

ANNAA

D\ulh—d\men&onal GuagyS Can be xml:-eh‘zed at a;mp;lB Bme

\‘ °\v 07 l» D’

Eu it 0(3][33[3] {{{n 2.33 {u,s,(,} {1,8 9}}

{{l,l ﬂj {n?,Q'_l, {}6, 5:5}}
{{h,z.BB {'/5 IIB {3,6',03

° & }"" 7,\'77\ V’y ;?)i) 3
L)

2-Run-bime W,

VYV »

Mudki- dimension

Ex: b x(23(23151
fon( 7=0; 1¢3 {++)

{ fon( fzo.j< 2;f+-})

[
For(K =02 K<5 Ka+)
scanfl"/d &t IKT):
J
J

3

in . ,
INUILAINDRE JRpupme S
L i b

ol onnays Cop be Sehalized Ob Jun »Hme' 'gs‘lng scanf {uncb'on



